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ECONOMICS
Full Marks — 80

4
Time — 3 Hours
General Instructions :
()  All guestions are compulsory.
(i) Marks allotted to each question are indicated against it.

(iij) Please write down the serial number of the question before attempting it.

SECTION-A
MACRO ECONOMICS (40 marks)
1.  State whether the following statements are True or False: ' 4x1=4
| (a) Aflowisa quénti& measuréd over a specified period of time.
(b) NetIndirect Tax = Indirect Tax — Subsidies
{c) RBIlissuescurrency on the basis of minimum reserve system.

(d) Fiscal policy is concerned with public revenue, public expenditure and government
budget.

2. Fillin the blanks with the correct answer from the options given : 4x1=4.

is concerned with economy as a whole . (Microeconomics / Macroeconomics)

(a)'

(b) Operating surplus includes rent, interestand _____. (wage / ﬁrofit)
(c) Moneyis supplied by — . (Commercial bank / Central bank)

(d) receipts tend to reduce liability of the government. ( Revenue / Capital)
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3. Mention any two instruments of fiscal policy. T2

4. State any two precautions to be taken while calculating national income by income method.

| 2

5. Explain fwo objectives of fiscal policy. - o 2

| 6. Whatjzs mixed income ? _ ' _ 2
7. Whatis propensity to save? Distinguish between APS and MPS. 241414
8. (a) Statethe difference between Central Bank and Commercial Bank. 4
OR |

(b) Explain the main function of Commercial Bank. | 4

9.  Explainthe circufar flow model in a 2-sector economy with financial system. 4

10. (a) Explain the concept of investment multiplier. Also state the relationship between

multiplier and MPC. . : : 34+3=6

(b) Explain the concept of consumption function with the help 6f a _diagrani. ‘ 6
11. Fromthe following data, calculate GDP at both (a) market price and (b) factor cost :
_ 3+3=6
Items | _ Rs. .(iﬂ Crore)

(i) Gross Investment 90 |
(i) Net exports _ _ _ 10
(ii,i)_} Net indirect tax _ 5
(tv) Depreciation | | 15 .
(v) Net factor iﬁcome from abroad | | _. -)5
(vi) Private consumptibri expenditure : | 350
(vii) Government purchase of goods and serviceé ' 100
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- SECTION-B -

INDIAN ECONOMIC DEVELOPMENT (40 marks)
State whether the fo!loiving statements are True or .Fdlse : 3 4x]1=4
(a) Per capita income is the avérage(iilcome earned by the people of the oountry. |
® Co'giposition of trade refers to items of exports and imports.
(¢) Anybody secking work but not getting work is unemployed.

(d) Degradation of land means gain of fertility of the land.

" Fill in the blanks with the correct answer from the options givén .:. 4x]1=4
(a) Pollution Control Board was set up in (1974 1984)
(b) _____capital refers to the stock of produced means of production (Physical / Financial)
(¢) A20Point Programme was launched with a view to eradicate {unemployment/

poverty) -

(d) Organic farming is farming. (sustainable / unsustainable)
What is capitalism ? ' . 2
Givea brief demographic profilelof India and China. | 2
‘Agriculture is the backbone of Indian economy”. Substantiate this statement. 2
Explain the achievement of agrarian reforms in India. 2

Briefly analyse the major changes in the direction of India’s foreign trade since independence.
4

Explain the main features of sustainable economic development. 4

HSS/019 3 P.T.0.



20. (a) Explainany four long term goéls of planning in India. 4
(b) Explain any four achievement of the Indian Plans. _ o 4
21, Discuss the indusirial sector reforms taken under the policy of iberalisation. 6
22. (3) er_te the concept of ‘Rurai Development’. Expiain the key issues of action pians for
rural development. ' s  145=6

ox

(b) Whatis human capital ? Discuss the principal problems faced in the process of capital
formation in India. . 2+4=6
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EDUCATION
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General Instrgaions 3
(i) All questions are compulsory. |
(ii) Marks allotted to each question are indicated against it.

(iii) Please write down the number of the question before arrempn:ng it.

1. Choose the correct answer from the choices provided under each of the following :

8x1=8
(a) Theword ‘Psyche’ means—
(i) to talk about (ii) it matters
i thidkiogol | G soll
(b) Conditioning means ___ of the natural response.
(i) changing (i) replacing
(iii) modification | @w) noneorihese
(c) Behind any act of attention, there is 5—
" (i) hindrance (i) deterrent
(iii) motive | (iv) thoughtlessness
(d) Which of the following is not among the remedies of forgeﬁﬁxlness ?
(i) revision (ii) motivation
(iii) let the child have no fear (iv) lapse of time
(e) The theory of intelligence forwarded in 1904 was — ’
(i) Uni-factor theory (ii) Spearman’s two factor theory

(iij) Multi- factor theory (iv) Group- factor theory
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{f) Mental hygiene is_ the science which consists of measures to reduce the incidence of —
G Mestalremdiios (ii) Healthy mind
(iii) Mentalillness - {iv) Mental health
(g) ‘Counselling is arelationship of mutual respect’. This is the view of -
(i) ArthurJones 7 (i) CarlRogers '
(ilf) Ruthstrang : (iv) Cattle

(h) We'iéam by trial and error when —
(i) there is a strong motive
(ii) the goalis clear
(iii) the problem cannot be easily solved
(iv) Allthe above conditions are fulfilled |
2. State whether the following statements are True or False : 4x1=4
(a) Psychology is the science of behaviour.
(b) Conditioning is a form of associative learning.
(¢) Chronological Age is an index of intelligence rank.
(d)'  Attention is a selective process, |
3. Fillintheblanks: o o 4x1=4
(a) Theword ‘adolescence’ in Latin verb “adolescere’ means .(to grow fto develop)
(b) When forgetting is - '

(¢) Accordingto
stage of his development’. (H.C. Warren/E.W.Burgess)

, leamning is slow. (slow / rapid)

, ‘Personality is the entire orgmlisatioﬁ of a human being at any

(d) —_ implies a relationship between two individuals in which one gives a certain
kind of assistance to the other. (Guidance / Counselling)

What is Development ?
What is Physical Environment ?

What are the two main aspects of heredity ?

W A P
SEESEE S

" Define Memory.
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Explain the concept of Mental Health.
What is Eclectic Cbunsell'mg?
Explain any four nature of Educational Psychology.

What are the fclaﬁonships between Psychology and Education ?
Describe the rélative importance of hegedity and environment.
Discuss ;1}1e relationship between Interest and Attcntion.
Briefly e;{plain the causes of forgettirig.

Explain Educational guidance and Personal guidance.

O O T . S

(a) . Enumerate and explain the special characteristics of adolescence period.
OR
(b) Whatis growth ? Write the differences between growth and dcvélopme,nt; 2+5=7

What is léaming ? Explain with an experimental évidcncc, the'theory of learning by trial and

Explain the concept of 1.Q. Explain Spearman’s two factor-theory of Intelligence. 2+5=7 “

Explain the major characteristics of a mentally healthy individual. 7
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ENGLISH

(CORE)
Fulf Marks — 80

g " Time — 3 Hours ,

General Instructions :
() The paper is divided into three sections:A,B & C. All the sections are compulsory. .

(i) Separaté instructions are given with each section and question wherever necessary. Read
these instructions very carefully and follow them.

| (iii) Do not exceed the prescribed word limit while answering the questions.

(v} Marks for each question are indicated against it.
SECTION - A : Reading (15 marks)

1.  Read the following passage carefully and answer the questions that follow :

_ Punctuality is a necessarjf habit in all public affairs of a civilised society. Without it,
nothing could ever be brought to a conclusion, everything would be in a state of chaos. Only

. inasparsely populated rural community, is it possible to disregard it. In ordinary living, there
can be some tolerance of punctuality. The intellectual who is working on some abstruse
problem has everything coordinated and organised for the matter in hand. He is therefore,
forgiven, iflate for the dinner party.

But people are often reproached for the unpunctuality when their only fault is
cutting things fine. Itis hard for energetic, quick - minded people to waste time, so they are
often tempted to finish a job before sitting out fo keep an appointment. Ifno accidents occur
on the way, like punctured tyres, diversion of traffic, sudden descent of fog, they will be on
time. They are often more industrious useful citizens than those who are always late. The
over punctual can'as much be a trial to others as the unpunctual. The guest who arrives half an
hour too soon is the greatest nuisance. Some friends of my family had this irritating habit.
The only thing to do was to ask them to come half an hour later than the other guests. Then
they arrived just when we wanted them,
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If you are catohing a train, it is always better to be comfortably early than even a

fractlon of a minute too late. Although being early may mean wasting a little time, this will be

less than if you miss the train and have to wait an hour or so for the next one. Also, you avoid

. the frustration of arriving at the very moment when the train'is drawing out of the station and

beihg unable to get on it. An even harder situation is to be on the platform in good time for a

train and to still see it go off withSut you. Suchan expencncc befell a certain young girl the
ﬁrsttpme she was travelling alone

She entered the station twenty minutes before the train was due, since her parents
had impressed upon her that it would be unforgivable to miss and cause the friends with
‘which she was going to stay to make two journeys to meet her. She gave her luggage to a
porter and showed him her ticket. To her horror, he said that she was two hours too soon. She
felt in the handbag for the piece of paper on which her father had written down the details of
the journey and gave it to the porter. He agreed that a train did come into the station at the
time on the paper and that it did stop , but only to take on water, not passengers. The girl asked
to see a timetable, feeling sure that her father could not have made a mistake . The porter
went to fetch one and arrived back with the station mastér, who produced it with a flourish
- and pointed out a microscopic ‘0’ beside the time of the arrival of the train at his station. This -
little 0 indicated that the train only stopped for water. Just at that moment, the train came into
the station. The girl with tears streaming down her face, begged to be allowed to slip into the
guards van. But the station master was adamant : rules could not be broken. And she had to
watch thattrain disappear towards her destination while she was left behind.

A.  Based on your understanding of the passage, answer the following questions briefly : 2x2=4
(a) Why is punctuality necessary in a civilised society ?
(b) The over-puﬁctual can be as much a trial to others as the un-punctual. Why ?
B. Select the appropriate answer from the given options : _ 2x1=2
(a) Reason why punctuality is necessary in a society —
| (i) for emotional reasons ;
(i) for environmental factors
(iii) toavoid chaos

(iv) toavoid suffocation
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C.  Choose the®omect word from the given options which convey similar meaning o the following:

HSS/001
(b) Pick out the odd word from the following words :
(i) energetic
(ii) quick-minded
(iii) irritating ..

(iv) industrious

2x1=2

(a) thinly | b

() comfortably
(it) horribly
(it1) ordinarily
(iv) sparsely

(%) hardworking

(i) frustrating
(ii) unpunctuality
(iii) chivalrous
(iv) industrious
Read the following paésage and answer the questions that follow :

Conversation is indeed the most easily teachable of all arts. All you need to do in order to
become a good conversationalist is to find a subject that interests you and your listeners.

" There are, for example, numberless hobbies fo talk about. But the important things are that

you must talk about other fellow’s hobbies rather than your own. Therein lies the secret of
your popularity. Talk to your friends about the things than interest them, and you will get a
reputation for good fellowship, charming wit and a brilliant mind. There is nothing that pleases
people so much as your interest in their interests. - |

It is just as important to know what subjects to avoid as subject to select for good conversation,
If you don’t want to be set as a wet blanket or a bore, be careful to avoid certain unpleasant
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topics. Avoid talking about yourself; unless you are asked to do so. People are interested
in their own problems, and not in yours. Sickness or death bores everybody. The only one
who willingly listens to such talk is the doctor, but he gets paid for it.

Tobe a gbod conversationalist, you must know not only what to say buthow to say it. Be civil
and modest. Don’t overemphasizg your own importance. Be mentally quick and witty, but
don’t hurt others with your wit. Finally try to avoid mannerism in your conversation.
(a) $#On the basis of your reading of the passage make notes on it using recognisable

' abbreviations wherever necessary. Supply a suitable title to it. 4

(b) Write a summary of the above passage in about 80 words. 3
' SECTION - B : Writing ( 25 marks)

You are Zara of Ramhlun South, Aizawl. You want to rent out jmur newly constructed flat in
the heart of the city. Prepare an advertisement in not more than 50 words for publication

in a newspaper giving location of the building, nature of accomodation, rent expected, etc.
5

‘You are a student of Class XTI, studying at St. Mary’s H.S.S. You have lost your Titan wristwatch
somewhere in the school premises. Draft a notice in not more than 50 words to be placed on
your school notice board. ' 5
(a) YouareLali/Lala of A-17, Chaltlang Lily Veng, Aizawl. You are disturbed by the way
people throw their garbage and rubbish in polythene bags by the roadside in your
locality. Write a letter to the Editor of ‘Mizoram Daily’ to create awareness about the
harmful effects of polythene bags and also suggest measures to clear garbage. 10

OR

(b) You are James/ Mary. You have seen an advertisement for the post of Education teacher
in ABC Public School, Mamit. Write a letter in response to the advertisement applying
for tliz post. Give your detailed bio-data also. 10

.(a) You are Lalrinmawia / Lalrinmawii of Aizawl Public School. You have witnessed
a road accident near your school. Write a report in not more than 120 words to be
published in your school news-letter. ‘ 5

OR

(b) You are Lalthazuala/Lalthazuali of Aizawl Public School. As a repreécntative of your
school, you have attended a campaign on ‘Say No to Polythene Bags’. Write a
report in not more than 120 words. . 5
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SECTION — C: Literature (40 marks)

7. Readthe following extract and answer the questions that follow : 4x1=4
L Andshow the children to green fields, and make theirworld
Run azure on gold sands, and let their tongues .
Run naked into books the white and green leaves open
| History theirs whose language is the sun.
(a)# The title of the poem is —
(i) ARoadside Stand
(ii) A Thingof Beauty N
(iit) -Keeping Quiet
(iv) AnElementary School Classroom in a Slum
(b) The ‘Children’ here refers to—
(i) The children who were.running out of their homes joyously
(i) The children who had everything in their lives
(iii) The children who go to school in a slum
& (iv) The childrenwho are retarded
(¢) The white leaves refer to—
(i) the leaves of books
(ii)} theleaves of plants

(iii) the tender leaves of trees
(iv) the leaves of new season
(d) The poet wants to take the children to a place —
(i) wherethey can play in a safe environment
(ii) wherethey can enjoy a good meal
(iii) wherethey can play in open fields and golden sands
' (iv) where they can play without worries
' OR
I. A thing of beauty is a joy forever . N 4x1=4
- Its loveliness increases, it will never |
Pass into nothingness; but will keep
A bower quiet for us, and a sleep
Full of sweet dreams, and health and quiet breathing -

. HSS/001 . 5 ' P.T.0.
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(a) Thename of the poet is -
" (i) PabloNeruda

(i) KamalaDas

(iii) JohnKeats

(iv) Stéphen Spender +!
Sb) A thing of beauty never passes into -

(i) something

(ii) -imagination

(iii) nothingness

(iv) dreams
(c) A thingof beauty can be measured by —

(i) - its colour

(ii) its fragrance

(iif) its appearance

(iv) its performance |
(d) Pick out what is not true about ‘a thing of beauty” ~

(i) itsajoy forever

(ii) providesus peace of mind

(iii) increases its loneliness

(iv) it befools us

8. Answerthe following questions in about 30 words : ; 3x2=6

)

(b)
(©)

@)
®
©
@

HSS/001

Why has the poet brought in the image of merry children spilling out of their homes’
in the poem ‘My Mother at Sixty-Six’?

What idea does Pablo Neruda warit to convey inhis poem ‘Keeping Quiet’?

How does the poet describe the faces of the children in the classroom ?

Answer the following questions in about 30 words : r 4XZ¥8

Why did the ironmaster speak kindly to the peddler and invite him home ?
How did Franz’s feeling about M. Hamel and school change ?

Why did Gandhiji go to Lucknow in 1916 ? Who met him there and why ?
How did Douglas’ misadventure affect him ?
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10.  Choose the correct answer from the given options 3 . 2x1=2

(2) . Mukesh’s father was born in a family of bangle makers, but his first t profession was a—
(i) carpenter (ii) teacher ;

(iii) tailor : (iv) plumber
(b) Thename ofthe ironmastef’s dahghter was —
(ie_ Mary Jones ' (ii) Emily Dickinson
(iti) Selma Lagerlof (iv) Edla Willmansson
- 11. Answer any one of the folloWing questions in about 100 — 120 words each : 5
' (8) Whatforces conspire tokeep the workersin the bangle industry of Firozabad in poverty ?
(b) Why do you think Gandhi considered the Champaran episode to be a‘turning pomt

in his life ? |
12. Answer the following questions in about 30 words : 2x2=4
(a) What does Zitkala Sa remember about her first day inthe land of applm?
: h (b) 'Who was Sam in the lesson, ‘The Third Level’? |
13.  Choose the correct answer from the given options : . 6%x1=6

(@) Why did Mother Skunk want her son to retain his identity ?
(i_) She disliked the wizard
(ii) She did not like roses
(iii) She wanted her son to be accepted as he was
(iv) Allofthese
(b). Whatdid Charley find in his stamp collection?
(i) Old addresses (ii) Hairstyles
(ifi) Old letters (i) Firstday cover
(c) | The chief concém for Sadao’s father was —
(i) Sadao’swedding (i) Sadso’s education
(i) Sadao’smigration (iv) Sadao’s treatment

HSS/001 7 P.T.O.
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(d) Which words of Annan made a deep impression on Bama ?

(i) Toleave their house to have better education

(if) They were not supposed to touch the upper caste people

(iit) She should never bow low before the upper caste

_ (iv) To study hard and progrédss, to rise above all shackles of indignity

(e) Pem entered Mr. Lamb’s garden by —

(i) climbing overthe wall

(i) climbing through the window

(iii) walking in through the open gate

(iv) walking in stealthily
() Jowanted the

(i) skunk to smell ofroses  (ii) skunk mommy to relent

(iii} wizard to hit .mommy (iv) animals to love skunk-

in the story the next day.

"14. Answer any one of the foilbwing questions in about 100-120 words : :
(a) There are moments in life when we have to make hard choices between our roles as

private individuals and as citizens with a sense of national loyalty. Discuss \_vith reference . -

to the story “The Enemy”. , 5
_ OR
(b) Will Derry get back to his old seclusion or will Mr. Lamb’s brief association affecta -

change inthe kind of life he will lead in the future 7 ¢ 5

HSS/001 ¢ s 8
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GEOGRAPHY
(Theory)
Fulk Marks ~ 70
" Time ~ 3 Hours
- General Instructions ;

(9  All questions are compulsory. |

(5} Please write down the number of the question before attempting it.

(iii) Marks for each question are indicated against it.

1. Choose the correct answer from the alternatives given below : 5x1=5

(a) 'Who among these scholars supported the philosophy of “possibilism’ ?

(i) Carl Ritter ' (if) LucianFebvre
~ (iii) ImmanuelKant (iv) HYMackinder
(b) More than — of the world’s population is confined to the Northern Hemisphere.
(i) Ninety percent (ii) Seventy percent
(iii) Eighty percent (iv) Sixty percent
~ {¢) Whichofthe followirll.g is not a plantation crop ? ;
(i) Coffee (ii) Tea
(iii) Wheat : (iv) Rubber
(d) Bauxite is the ore of — | |
(i) Copper (ii) Iron
(iii) Uranium (iv) Aluminium
(e) — plays an important role in rapid economic growth of a nation. |
6 Al (i) Agriouiture.
(iii) Irrigation : (iv) Transport

P.T.O.
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State whether the following statements are True or False : Sx1=5

(a) A distinguishing feature of the India:i house type is the courtyard or Uthan.

(b} The British added a number of new elements to the traditional townscapes.

(¢c) Theword “Development™ may be defined as “means of attaining given ends”.
(d) India is primarily an agricultural Eduntry where 75% of the total work force is engaged
in this sector. ; :
(e) Th:tcnn ‘Manufacture’ literally means ‘to make by hand.’
Match Column A with Column B: O 4x1=4
A | | B
(a) Electronic media, press (i) Green house effect
- and print media

{b) Maintaining quality of life, (i) Masscommunication
" natural resources and environment '
for both present and future generation

(¢) Increasing integration between (iii) Sustainable development
different economies of the' worl_d

(d) Reduction in precipitation due to ' (iv) Globalisation
rise in global temperatures

Wirite the definitions of luman Geography given by Jean Brunches and Friedrich Ratzel.
- : 1+1=2

Mention the fwo aims or types of gathering activities. Explain them . ‘ 1+1=2
What are the main characteristics of urban settlements ? |
Distinguish between intra-state migration and inter-state migration.

Distinguish between rural and urban settlements on the basis of primary function.
Differentiate between a ‘Harbour’ and a‘Port”.

Describe the geographical conditions necessary for the cultivation of cotton.

W NN NN

What are the different characteristics of shifting cultivation ?

Write the three points regarding the problems of human development in developing
countries with reference to rural settlement. 3

HSS/018 2 Contd.




13.
14.
15.
16.
17.
18.

19.
20.
21.

- 22,

HSS/018

Provide any three concrete reasons why sex ratio is low inIndia. _ 3
How does forest perform protective as well as productive functions? 3
Write any three measures to control water pollution. 3
Which factors affect population distribution and density as a whole? 4
Describe any four significance of road*t:'ansport. 4
Point out the factors that have contributed to the development of Dethi and the adjoining

' Industrial region. 4
Givea briefnote on the nature of Indian imports. 4

Write in brief any three advantages and fwo disadvantages of pipeline transport. ~ 3+2=5

‘Onthe given outline map of the world, locate and label the following : 1+1=2

(a) A canal which connect Atlantic ocean with Pacific ocean.

(b) Thelargest producer of mineral oil in the world.

On the given map of India, locate and label the following : I+1+1=3
(a) Thelongest National Highway.

(b) State with the highest growth rate of population.

(c) Thesecond leading producer of Golden Fibre crop.
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General Instructions :

@ Al questfbns are compuisory.
(i) Marks allotted to each question are indicated against it.

(iii) Attach the map with the answer script.

-

(iv) Please write down the number of the question before aitempting it.

I.  Choose the correct answer from the options givenbelow: 10x1=10

(a)

(b)

©

(d).

(e)

®

Which archaeologists reconstruct the dietary practices of Harappa from the remains
of charred grains and seeds found in Harappan sites ?

(1) Archaeo-Zoologists (ii) Archaeo-Ethnographists
(iii) Archaeco-Botanists (iv) Archaeo-Linguistics
The first coins to bear the names and images of rulers were issued by -
(i) Mauryans (i) Shakas
(iii) Mongol (iv) Indo- Greeks
‘The ‘Prayaga Prashasti’ or the Allahabad Pillar Inscription was an eulogy writtenin -
Sanskrit about —
(i), Chandragupta - . (ii) Asoka
(iii) Samudragupta (iv) . Skandagupta
An important religious duty of a father was to perform—
(i) Kanyadana (ii) Gotra
" (iii) Stridhana ' o (iv) Sacrifices
A major feature of the Chishti tradition was —
(i) Austerity (ii) Chastity :
(iii) Simplicity (iv) Flexibility :
Vijayanagara literally means - ; '
(i) PinkCity : - (ii) Abodeofthe Gods -
(iii) City of Victory (iv) Goldentemple

P.TO.
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(g) lwalian traveller who gave graphic account of flow of silver to India was -

(1) Giovanni Careri : (ii} Nicolo Conti
(iii) Marco Polo - (iv) Nicolo Manucci
(h) The class of rich peasants in Dinajpur district of North Bengal were known as —
(i) Zamindars | (ii) Jotedars
(iii) Sahukars <} (iv) Talugdars
(i) The British established a law to abolish ‘Sati® system in -
@ 1833 (i) 1829
(iii) 1853 (iv) 1827
(i) Gandhi’s political mentor was — | |
(i) Bal Gangadhar Tilak (i) Vallabhbhai Patel
(iii) Bipin Chandra Pal - (iv) Gopal Krishna Gokhale
2. Fill in the blanks with the correct answer from the brackets : . - 6x1=6
(a) A greatancient work dealing with art of governance composed by Kautilya was
(Harshacharita / Arthashastra)
(b) refers to something that is meant for purposes of-instruction. (Narrative /
- Didactic)
(c) The Vijayanagara kings use the title . (Hindu Maharaj / Hindu Suratrana)
(d) The capture of wild elephahts was declared a royal monopoly by {Mughal kings/
Ahom kings) '
(e) The plough represents the Santhals, the hoe represents .(the Peasants / the
Paharias) _ *

(f) After the failure of the Cripps Mission, Mahatma Ga;ndhi_ decided to launch
(Civil Disobedience Movement / Quit India Movement)

3. Answer the following in fwo or three sentences : ' 8x2=16
(a) What were the causes that rr_iay have been responsible for the decline of the Harappan
~ Civilization?
(b) What does “Piyadassi” mean? Whom does it refer tc ?
(c) What were the duties of the Chandalas as laid down by the Manusmriti Z
(d) WhowasBasavanna ?
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What were the contributions of Krishnadeva Raya?

Give any two functions of the village Panchayét during the Mughal period. -
What is meant by the Sunset law?
What was the Khilafat movement of 1919-1920?

List the materials used to make beads in the Harappan civilisation. Briefly describe the
process by which any one kind ofbead was made. . 142=3

. OR
£
How do historians reconstruct the lives of ordinary people.
Explain with examples what historians mean by the integration of cults.

OR
Describe the major teachings of Baba Guru Nanak and the ways in which these have
been transmitted. ' _ 2+1=3
‘Strain began to show within the imperial structure following Krishnadeva Raya’s death
- in 1529°, Critically examine the statement. ' . 3
OR '
What were the methods used to study the ruins of Hampi over the last two centuries, i.e
19" and 20" centuries ? - | 3
Towhatextent is it possiblé to characterise agricuithral production in the sixteenth and
seventeenth centuries as subsistence agricuture? | 3
OR

)

8. (a)

(®)
9. (@

®

'10. (a)

(®)
HS$/012

Analyse with examples the significance of monetary transactions during the Mughal
period. _
How did the American Civil War affect the lives of the ryots in India?
OR
To what extent does religious beliefs shaped the events of the Revolt of 18572 3
What were the measures taken to ensure unity among the rebels?
' OR
How was Mahatma Gandhi perccived by the peasants?
Discuss how archaeologists reconstruct the past. |

OR _
Discuss the functions that may have been performed by rulers in Harappan society. 5
3 _ _ P.T.O.



11.

12.

13.

14.

15.

H§S/012

(a)

(b)

(b)

(a)

(b)

(@)

(b)
(a)

(b)

To what extent were agricultural practwes transformed during the 6 Centur;I gg; ::

6™ Century CE. 5
OR | ,

Discuss whether the Mahabharata could have been the work of a single author. s

‘What are the architectural traditions that inspired the architects of Vijayanagara?

How did they transform these tratlitions ? _ 2+3=5
How were the lives of the forest dwellers transformed in the sixteenth and seventeenth
century? : : ; 3 5
In what way was the livelihood of the Paharias different from that of the Santhals 7?5

OR
What did the rebels of the Revolt of 1857 want ? To what extent did the vision of
different social groups differ ? : 2+3=3
Analyse the circumstances favouring the adoption of Non-Cooperation Movement by
Mahatma Gandhi. 3
OR |
How was Non-Cooperatibn a form of protest ? | -

On the given outline map of India, locate any five cities expénded By the Mughal rulers.

OR

On the given outlme map of India, locate any five places where major Rock Edicts of

Asokan inscription were erected. 3
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(i} All questions are compuisory.

(i) Figures in the margin iindicate marks.
(iiif Write your answers neatly and legibly.

(tv) While attempting a question, write the question number as given in the question paper.
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2022
HOME SCIENCE
(Theory)
Full Marks - 70
: - Time - 3 Hours
General Insiruéﬁons 7

(i}  All questions are compulsory. Marks are ivdicated against e&ch'questian.’ '

(i) Answers should be brief and to the point.
(iii) Write down the number of the question before attempting it.

1. Choose the correct answer :

(a) Family which consists of grandparents and their children —

(i) Nuclear family (i) Joint family

(iii) Extended family ' (iv) Single parent family
(b) Theincome thatis subjecti\./e and intangible in nature —

(i) Money income | ‘ .(ii) Real Direct Income

(i1i) Real Indirect Income (iv) Psychic Income

(¢) These lines create the illusion of height in a dress —

(i) Cross lines ' (ii) Diagonal lines

(iii) Horizontal fines (iv) Vertical lines
(d) Diet ideal for convalescents pcnod -

(i) Soft diet (ii) Normal diet

(iii) Liquid diet (iv) Semi-liquid diet
(e) Itis shoulder to shoulder measurement —-

(i) Cross-back ' (ii) Height

(iii) Bust | (iv) Hip

HSS/017

5x1=5

P.T.0O.
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HSS/017
State whether the following statements are True or False : | 5 ><51=5
(a) Red,blue and yellow are seconda;y 'c_olours.
(b) The hormones that we release when we become angry are cortisone and adrenaline.
(c) Career means doing a job that givg_smo_r-c_ money and authority besides satisfaction.
(d) Sggaming and boiling and pressure-cooking are ideal for fried foods and milk.

(e) Physical reactions are responses such as an increased heart rate, blood pressure and

tightening muscles.

Give one word : : . 4x1=4

[(a) ThepH value of wateris —

(i 5 (ii) 6
(iii) 7 o Giv) 8
(b) Basic minimum requirement that must be fulfilled in order to survive —
(i) Needs . (iij Desires -
(iii) Wants " (iv) Demands
(q) Soaps ihat gives fragrance to the washed clothes -
(i) Starch (i) sat .
(iii) Resin _ (iv) Perfume

(d) Standard mark which indicates that the product is environment friendly —

(i) Agmark (ii) Woolmark
(iii) Ecomark (iv) Silkmark |
What do you understarid by water quality ? 2

Jenny, your class-mate has been experiencing sadness, loss of energy, moodiness, self-
reproach and suicidal tendency for past few days due to COVID-19. Suggest four ways of
helping her to overcome this situation. ’ 2

What are the properties of a good soap ? 2

HSSI017 | | _ 2 : Contd.




10.
11.
12.
13.
14.
15.

16.
1.7

18.
19.
20.
21

HSS/017

Your brother is going to purchase fruit juice. Elaborate four instructions you will give him to
select a good quality fruit juice. | 2

List any four symptoms commonly seen in a hypertensive person. ; 2

You are using a chemical to remove stains from your dress. What important precautions

would you keep in mind while using if én the fabric. 2
Explain gny three needs of adolescents.

Elaborate any three consumer aids available for the consumers.
Discuss in brief the three types of food consistency diets.

Explain any three factors affecting clcthing colours and personality.

L W W W W

How does regular exercise help in anger management ?

Ruati is not able to digest her food properly. She is also having constipation. What
dietary modifications should be made in her diet to overcome her digestive issues ? 3

Give three advantages of household records. o 3

What are the different Household Water Treatment (HWT) methods that help to

reduce microbial pathogens ? 3
Explain in brief any five factors affecting meal planning. 5
Give an account of any five problems faced by consumers.. 5
Write in brief the responsibilities of adulthood. | 5
Explain briefly any five factors affecting the selection of apparel. 5

HSS/017 : 3
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 Hriat twike:

() Zawhna zawng zawng hi chhan ngei ngei tur ani.

. (#) Zawhna tin mark put 2at chu a zawnah tarlan zel a ’m'.

(iii) Chhan dawnin zawhna nambar ziah zel vur a ni.

THEN KHATNA: HLA

I.  Kualkhung chhungathutehl adlkbcrﬁllangchhuak Ia, akarawltehl dahkhatrawh 4><I—4
| (a) Sem sem dam dam- hawnhhﬁwrn tlawmngalhna nén (el bil thithi/ llan té thlel

lo / aia upa zah) |

Jailen thyanglam zawhna. (Sm / Savate / Thuvate)

_ hian, (awmbharah / khawharah / hrehawmah)

{d) Zankhuatlalarunsang.._.,__ (behnjkmmlmawlm)

(b)
~(c) Ansulhmulei_.

2. Hausiampa Zai-a, “Duh leh mual lianpui chu tul rawh se” tih hi eng nge aawmzia ? =

3. Phungrual an tin ang atih hla phuahtuin, ‘Lung kan rual ngei ang a’ at:hkhawtengemsamla _
Engti turin nge an inlungrual ang sawi bawk rawh. : o 2

4. Phengphe nunnem tlhhlaphuahtu hian theih riise engtia amnngeadtﬁsawala,engvmgm nge
hringnun hi a tahpur thmsambawkrawh _ I g ow T 2+2=4

5.  Itankading zel ang tih hla phuahtu T. Zorampela’n ‘Ka tan chunmu’ a tlh hi eng ngesawila. *
Mizorama chengte dinchhuah nana thil pammawh a sawi hrang hrangte kha a hla thu
tlawhchhanm hanziakteh. . L 145=6

PT.O.
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e | | THENHNIHNA : THU
6. Adikberthlang chhuakrawh: . _ : | 4x1=4
" {a) RL.Thanmawia’ nmlaltamtakmantlakchham maasa\m chu— '
{Dawhtheihna / Hmangaihna { Ngxlnelhna)
(b). Briﬁsh-in Mizoraméawpkthﬁchu- '
(1880 / 1890 /.1900) |
(c) Mlonawnga Bible bu klm kan nelhkum chu—-
(1957 /1958 / 1959)
(d} H. Lallungmuana’n khawhar aia tuar har a tih-chu-—

(sum tlakchham /riltam / khawsik)
7’. I thinrim clo‘?tlhmaktumthmnmnahnehdanthabcratlhkhaengnge?l-lan sawi zau teh.
4
Ce Lalsnamthanga n literature tehﬁmg dik tak atihkha engngeni ? E 2
_ 9. ‘Mizo AAW B kan neih tan ku sawi la, min siamsaktu Mlssmnary-te hmmg kha sawi bawk ~
rawh, . C1+1=2

10. *Kahan chhutka han chhut hian, pawi ber maia ka hriat tak chu kan mun khuarei an chang tur hi
ani’. C. Thuamluaia’n kan mm khuarei an chang tur pawi a tih dan kim takin han sawi t¢h. 6

THENTI-IUMNA LEMCHAN
| ! Adlkberﬂllangchhmkrawh ' o =2
i {2) Thangzawra’n nang zawnginmin lainate’, at:hkhatunge? |

(Lalthniangi/Khuaia /A nu)
(b) Thangzawra’n ‘phivawk rimchhe pahnih’ a uhtc kha tute nge ?

(Chawnghrima leh Kanglova / Thanghrima leh Kanglova/ Khuaia leh Kanglova) .
12. Kalkhama’npu.i&mmdcuhhlekavaimnaunnchhanklmcngngcni‘? _ S 2

“13. Lalhniangi pain a fanu man atana a ngen kha sawi la, a ngen chhan chiang takin han sawi
bawk tch. - Y 1+3=4

-14. Lalhniangi leh Thangzawra te inneih theih lohna tura Chawnghnma hma lak dante kha han
sawi teh. 6

HWssmoz 2 o - ~ Contd.




15.

16.

17.

18,

19.

20.

(b) Zawlbuka riak tlangval mutthilh hnua Hrangchhuana tui petu chu

THENLINA : GRAMMAR AND COMPOSITION
A hnuaia rinte hi eng adverb nge an nih ? | '_ | - I+1=2

"(a) A zuang thoh thoh ma. |

(Adjectival Adverb / Double Adverb / Emphatlc Adverb)

®) oan yakvaksuh
(Adjectival Adverb / Double Adverb / Emphatic Adverb)

A hnuaia tawng upa hi hrilhfiah la, atiﬁahtth‘inthuphuah rawh : T 141=2
R&ckawlascpaang : | | o

A dik zawk thlang chhuak rawh : . - x1=2

(a) Chhungkhat laina hnai nei lo hi (Zuntei nu siam ang / vanlaia tla ang) an ti.
(b) Mumanga thil hmuh a taka lo thleng dik leh hi (kelchal mang man / zawng mang chhia

ang) anti.
Lalenga, Bawnglwn, Aizawlinia.In bialtu SDO, Power & Electricity Department, Bawngkawn
hnenah in electric bill d_lk lo chungchang sawiselna (complaint) han ziak teh. 4
A hnuaia thupui j duh ber hmang hian thumal 250 velin Essay ziak rawh : | 6

(a) COVID-19 leh Mizote

~ (b) Zirlaite leh Mobile Phone .. Q

(c) Nungd:aHumhalh

~ THEN NGANA : RAPID READER
A dik ber thlang chhuakrawh | ' | 2x1=2
(a) ‘E Chawngpuii pa zah ngai, zah ngai, a tawk e, a tawk ¢’ t: tu chu ank

(Hrangmuam /Kapzawna/ Aitama)

.ant.

(Kapphunga/ Kapzawlal I-Irangmua_na)

HSSI003 | | 3 PTO.
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.21,

9
23,
24,

25.
. sawiteh. oy ) : s B 4

HSS/003
. “A hun thlen hma chuan kan sawi tak leh kan sawi zel turte pawh a hretu pathum chauh kan ni

tlat reng tur a ni.” He thu hi tu sawi nge ? A hun lo thleng tur chu'eng nge ni? 1+1=2
Tlangchhina’n Hrangtinluaia kha hmeifa a tih mai theihna chhan _mm | 2
Khaw thenawm invelh tawn nan fei pawh abanalasei lutuk tih hieng nge aam ‘7 2
Chawngmawii leh Hrangchhuans * inhmangailna thuk takin a thien leh a rahchhuahpahmhte

khihansawneh | | - IR |

Chawngmawutekhualdlﬁrmgchhuanawkhuamumlﬂwchluatchhankbsmn fel takin han

HSS/003 | 4
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General Instructions :

()  All questions are compulsory.
(i) Marks for each question are indicated ag&inst it.
(iii} Please write down the number of the question before attempting it

1. Choose the correct answer : 16x1=16
(a) The British Parliament created the Secretary of State for India by thc Government
of India Act of - _
(i) 1858 () 1950
(iii) 1935 : (iv) 1919
(b) Which one ofthe following feature is not appropriate to India ?
(i) Socialist State (ii) Presidential Government
(iii) Parliamentary Democracy  (iv) Union of States
(¢) The Constitution which is the Supremé law of the land is preserved by —
(i) TheParliament (ii) The Cabinet
(iii) Constituent Assembly (iv) Supreme Court
(d) Who among the following is/are not appointed by the President ?
(i) Governors of the State (ii) Judges of the Supreme Court
(iii) Vice President " (iv) Judges of the High Court
(e) The President can send his resignation to the — | | '
(i) Prime Minister (i) Chief Justice of India
(iif) Union Home Minister (iv) Vice President

P.1.0.
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The administrative head of the Cabinet Secretariat is —
(i) Prime Minister (ii) Cabinet Secretary
(iii) President (iv) Vice President

The real Executive head of theState Administration is -

@ Governor

(if) Chief Minister
(ifi) ChiefSecretary ]

(iv) Speaker of State Legislative Assembly
Which Article of the Indian Constitution talks about the Governor’s power to grant

pardon ?

(i) Article 155 | (ii) Article 161
(iii) Article 175 (iv) Article 191
Who chairs the meeting of the State Council of Ministers?
(i) Cabinet Minister (ii) Govémor
(iii) Chief Minister | (iv) Chief Secretary
The Chairman of Municipal Corporation is — |
(i) Mayor (ii) Councillor
(iti) MLA ‘ (iv) Deputy Commissioner
The minimum age to be a member of the District Council is —
(i) 25 years (ii) 30 years
(iii) 35 years (iv) 45 years
Which of the following is not a feature of local self government ?
(i) Democratic (if) Grassroot development.
(iti) Participation of local people (iv) Unresponsiveness
Lok Ayuktaisa model of Ombudsman.
(i) British (i) German
(iii) Swedish (V) Russian
2 Contd.
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(n)

(0)

k)

State the nature of India as a Republican State.

Mention any two important fuﬁétions of Cabinet Secretary.

Howis ﬂle Chief Minister of a State appointed ?

What is the organisation of the State Secretariat ?

What are the legal immunities enjoyed by the Governor of a State ?
What is meant by Local Self-Government ? '
How would you clarify All India Service ?

Define the ‘Right to hlfonnatioﬁAct.’

‘What are dieharagtedistic Tatureyof indian Seculatizmyunder the Gotstihution™
What are the main role of the Prime Minister’s Office (PMO) ?
Discuss the role of Civil Services in Indian admil}istraﬁon.
Elaborate on the importance of Lok Adalat as People’s Court.

Briefly discuss two types of local self government in India.

HSS/026

Members of the Union Public Service Commission shall hold office for a term of 6

years or till the age of whichever is earlier.

() 58years | (ii) 60 years
(iii) 65 years - (iv) 62 years
In Mizoram, oombmed compctmvc examination for MCS MPS, MF&AS and MIS was

_ corfducted since —

i 2013 (i) 2007
(iii) 2009 T (iv) 2012

ChiefInformation Commissioner and other Information Commissioners shall hold
office for a term of —

(i) 4years (ii) 5years
(iii) 6years - (iv) 3 years

i
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Briefly describe the political condition of India right afier her independence from the

British. 7
- OR

Explain different kinds of sover?ignty. | | 7

Explain the Chief Minister’s rélétﬁonship with his Council of Ministers. 7
¢ - OR

Highlight the roles and importance of the Chief Secretary in the State administration. 7

Briefly discuss different functions.of the President of India. 7

|  OR |

Explain the organisation of the Cabinet Secretariat. Mention the roles played by the

Cabinet Secretariat. ' 2+5=7

Elaborate the Judiciﬁl powers and ﬁmctidns‘ ofthe Deputy' Commissioner. - ¥

OR |

Discuss the powers and functions of District Councils under Sixth Schedule of Indian
Constitution. _ 7
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2022
POLITICAL SCIENCE
Full Marks - 80

Time -3 Hours

Generdl Instructions :

(i) All quesions are compulsory.

(i) Marks allotted to each question are indicated against it.

(iti) Please write down the number of the question before attempting it.

1.

Choose the correct answer ;- 4x1=4 .

(b)

(©)

‘Which among the following statements does not reflect the objectives of NAM ?

(i) Enabling newly decolonised coimtri_es to pursdc indcpcndcﬁt policies
(il)  Noto joining any military alliances

(iii) Following a policy of neutrality on global issues

(iv) Focus on elimination of global economic equalities |

Which among the following statements is wrong with regard to ‘Operation Iraqi

Freedom’?

(i) More than forty countries joined in the US led coalition of the ‘willing to invade
Trag®

(ii) The reason given for invading Iraq was to prevent it from developing weapons of
mass destruction ' : '

(iii) The action was taken with the prior approval of the UN
(iv) The US led coalition did not face major resistance from the Iraqi forces |
WTO is serving as the successor of which of the following organisations ?

(i) Genperal Agreemerit on Trade and Tariffs

~ (ii) General Arrangement on Trade and Tariffs
- (iii) World Health Organisation
- (iv) UN Development Programme

PT..
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(d) Find the odd onc out in the context of the Proclamation of Emergency —

(i) Thecall for Total Revolution

(ii) TheRailway Strike of 1974

(iii) TheNaxalite Movement

(iv) TheAllahabad High Court Verdict |
Fill in the blanks : |  4x1=4
(8 —'__isanorganisation of ASEAN that deals with security. (WTO/ARE/NAM)

(b) Thehighest functionary of the UNiscalled._ (Secretary-General / Security
Council / General Assembly)

(¢) . The party that won the .second largest number of the Lok Sabha seats in the first election
wasthe .. (Praja Socialist Party / Bharatiya Jana Sangh / Communist Party

of India) |

(d) ——— wasthe first Prime Minister of India. (Mahatma Gandhi / Indira
Gandhi / Jawaharlal Nehru)

. Match the following : ‘ ' 4x1=4
A ' B '

(a) World Health Organisation (i) Led tothe establishment of NAM

(b) Demarcating boundaries on - (i) BharatiyaJana Sangh
religious grounds | _

(c) Shyama Prasad Mukherjee (iii) Providing good health for all

(d) BasdungConference "6 TndendPaldenn

Wriic True or False against each of the following statements : 4x1=4

(a}) Superpowers assist all the member countries to develop their own nuclear weapons.
(b) Partition of India was the outcome of Two Nation theory.

(¢) The members of the General Assembly are automatically the members of all other
principal organs and specialised agencies of the UN. |

(d) TheNational Emergency of 1975 led to the suspension of all Fundamental Rights.

HSS/011 . 2 ' Contd.
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Why did the Superpowers have military alliances with smaller countries 7 Give fwo reasons.
1+1=2
How does geographical proximity influence the formation of regional organisations ? 2

What was the task of the States Reorganisation Commission? What was its most salient

recommendations? 1+1=2
If Bharatiya Jana Sangh or the Communfsi Party of India had formed the government after the -
first electjon, in what respect would the policies of the government have been different?
Specify two differences each from both the parties. ' 1+1=2
Bring out two differences between Socialist Pa.rty and Communist Party. 1+1=2
Why did the Anandﬁur Sahib Resolutioﬁ became controversiat ?

What were the factors that forced Gorbachev to initiate the reforms in the USSR ?
Give an example of any rwo of the three kinds of hegemony that you have studied.

What makes the UN an indispensable organisation ?

= & s b

Write a short note on India’s Nuclear Policy.

- India’s foreign policy was built around the principles of peace and cooperation. But India

fought three wars in a space of ten'years between 1962 and 1971. Would you say that this was
a failure of the foreign policy 7 Or would you say that this was a result of international
situation ? . 4
(a) What was India’s Foreign Policy towards the US and USSR during the Cold War era?
Do you think that this policy helped India’s interests? 8
OR

(b) What was Shock Therapy? Was this the best way to make a transition from Communism
to Capitalism? I 2+6=8
(a) From the rhree extracts in the chapter regarding the Lok Sabha debate on the Indo-US
deal. Develop any one of these into a full speech defending a certain position on Indo
US relations. ' . 8

OR |

(b) Identify the contentious issues between China and India. How could these be resolved
for greater cooperation? Give your suggestions. 8

HSS/011 3 P.T.0.
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It is said that the nation is to a large extent an “imagined community” held together by
common beliefs, history, political aspirations and imaginations. Identify the features

that make India a nation. _ 4+4=8
_ _ OR
In what sense was the Congress an ideological coalition? Mention the various ideological
currents present within the Congress. - 8
Irbwhat way did the imposition of Emergency affect the party system in India? Elaborate
your answer with examples. | 8
Regional demands from different parts of India exemplify the principle of unity with
diversity. Give reasons. : 8
4
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2022
PSYCHOLOGY
(Theory) '-
Full Marks - 70
Time — 3 Hours

General Instructions :

@) ‘ All questions are compulsory.

(ii) Marks for each q::esrion are indicated against it.

(iii} Please wriie down the number of the question before attempting it.

PART- A
1.” Fill in the blanks with the correct alternatives from the given options : TX1=7
(a) The two-factor theory of intelligence was p.roposed by . (Spearman / Thurstone)
(b) The conceptof IQ was devised by . (Stern / Binet)
(¢) Aperson whb believes that he has the ability or behaviour required by a particular situation
demonstrates high . (self-control / self-efficacy)
(d) The state of physical, emotional and psychological exhaustion isknown as
(trauma / burnout) -
(¢) Therecare ﬁ-equent episodes of out-of-control eating_ih J(binge eating / anorexia
nervosa) “
(f) The Rational Emotive Therapy (RET) was formulated by .(Beck/ Efllis) ' _
(g) When groups work together to achieve shared goals, we refer to it as :

(competition / cooperation)

P.T.O.
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Differentiate between talent and giftedness.

| _ Define self.

‘ . o HSS/015
State whether the following statements are True or False : | Tx1=7

(a) Creativity tests mostly involve convergent thinking.
(b) Hardiness consists of commitment, control and challenge.

(¢} Blaming friends for poor ﬁcrformance in an examination is an example of problem-
' 4 :

focused coping. |
(d) Psyghotherapy is a voluntary relationship between the client and the therapist.

{e) Sympathy means understanding things from the other person’s perspective.

(f) The term “outgroup’ refers to one’s ovin group.

(g) In participant observation, the observer becomes an active member of the setting where
the observation takes place.

PART- B

Explain auditory hallucinations.
Suggest-any fwo techniques to rehabilitate the mentally ill.

Define group.

NN RN NN

List out any two advantages of observation.

~ PART-C
Explain verbal, non-verbal and performance tésts of infqlligénce.-
Discuss Allport’é trait theory of personality.

Discuss anj) threé factors that lead to positive health and well-being.

b W W W

Explain any three important characteristics of an effective counsellor.
PART- D
Define Intelligence. Describe the PASS model of intelligence. 1+3=4

Describe the four effects of stress on psychological functioning and health. 4

HSS/015 . 2 j  Contd.
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15. What are dissociative disorders? Explain the three types of dissociative disorders.  1+3=4

16. Which therapy encourages the clients to seek personal growth and actualise their potential?

Write about Carl Roger’s therapy which is based on this principle. 4
17. Tuckman suggested that groups pasé through five developmental sequences. Explain the
first four stages. e 4

& PART - E

18. Define pefsdnaiity- Discuss the five behavioural analysis methods used in personality
assessment. 1+5=6

-

19. Describe any three psychological models which provide explanation of mental disorders. 6

HSS/015 : 3
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SOCIOLOGY
Full.Marks — 80

_ Time — 3 Hours
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General Instructions :

(i)  All questions are compulsory.

(i) Marks for each question are indicated against it.

(1)) Please write down the number of the question before attempting it.

1.  Choose the correct answer from the options given below : 6x1=6

() InlIndia, regular ten yearly Census have been conducted since —

(i) 1880 - (ii) 1881
(iii) 1818 Gv) 1820
(b) Anepidemicthat affects a"very wide area — |
() cholera ' g} Biboredloss
(iii) corona (iv) pandemic

(¢) -A National Planning Committee withJ awaharlal Nehru as its Chairman was set upin-—

(i) - 1938 | () 1939 ¢
(iti) 1940 (v) 1949

' (@) In1864,KeshabChandea Sen of Bengal visited~
(i) Madras (ii) Bombay
(@) Caloutts ' (iv) Delhi

(¢) 'When people do not enjoy work, that situation is called alienation by — ‘
(i) Max Weber (i) Adam Smith
(ii1}) Emile Durkheim {iv) KarlMarx

P.TO.



(Hh WTO stands for—
(i) World Trading Organisation
(ii) World Trade Organisation R
(iii) World Trade Organ “
(iv) World Trading Organ |
2. State whgﬂier the following statements are True or False : - 5x1=5
(a) Jatiis the word most com-monly used to refer to the institution of caste.
(b) The traditional business commupities‘in India include “vaisyas’. |
(¢) Liberalization refers to the emergence of machine production. _
(d) Theresolution condemning polygamy caused considerable debate in the Muslim press.
(¢) Frederick Winslow Taylor invented a new system in the 1890’s which is called ‘Scientific
' Management’. ' _
3. - Fillin the blanks with the coﬁect'answér from the options given below : Sx1=5
@ A ' family structure exists where the men exercise authority and dominance.
) mfriarchal - (i) patriarchal |
(iii) matrilocal .. (iv) patrilocal
(b) ‘The term was coined by Max Weber.
(i) invisiblehand (ii) untouchability
(iii) status symbol _ (iv) alienation
(¢) Colonialism alsoled to a considerable of people.
(i) movement | , . (i) poverty
(iii) stagnation () suffering ;
(d) The reached remote corners of present day Nagaland, Mizoram and Maghalaya
(i) Ramakrishna Mission (i) AryaSamaj movement
(iii) Christian missionaries (iv) Brahmo Samajmovement

HSS/013
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(e) Thesociologist, argues that the use of machinery actualty deskills workers.

(i) Harry Merton (i) Harry Braverman

(iii) Harry Parson ; (iv) Harry Ford
What is check positive ? o +f .- | 2
What is mgrketisation ? 2
Define Stratification. 2
How would you deﬁne Tribe ? . 2
Why are Land Reforms necessary in India ‘7 _ 2
Differentiate between strike and lock out. 2
What is Glocalisation ? ' ‘ 2

Answer any two from the following questions :

(a) Theage structure of the population is relevant for economic development and growth.
.~ Why? . _ 4

(b) What in your opinion could be some of the implications of a declining sex ratio? 4

(c) Explainuntouchability. | ) 4
(d) How would you distinguish prejudice from other kinds of opinion or belief ? 4
How has colonialism impacted our lives 7 | 4
Write a critical essay on rites and secularisation. 4

What measures do you think the government has taken or should take to protect the rights of

landless agricultural labourers and migrant workers ? ' . 4
- What are the distinctive features of a globalised economy 7 | | 4
Distinguish between Peasants and New Farmers m_m./ement. | 4
Write a short note on women'’s movement. _ 4

HSS/013 | - 3 P.T.0.
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18. (a) Inwhatsense has caste become i‘elatively invisible for the urban u'pper caste. 6
R | |
(b) What changés didboloni.aiism bring about in the caste system ? 6
19. (a) | In what ways 1‘; amarket, suchasa weekly vi'llage. .market, a social institution ? 6
" or
(b) Ewplain the meaning of ‘commoditisation’ with the help of examples. 6
20. (a) Describe somie of the policies desi gned to address caste inéquality. 6
OR '
(b) Djséuss the major issues of coﬁcem to Adivasis today. 6

HSS/013 4



